





According to the figure shown below, which statements is true: * [

(2 Points)
a ﬁ €
T [ Ik i
Rs §R; R,
vsQ) oV Assume Vsis DC
I . power supply

P 0 ERO Rsiii=ar2

() D.1 is one fourth of 12

() B. The current 11 is double of 12
() A The current I1 is haif 12

() Both B and C are correct

() Both A and C are correct

O cn=0



You are asked to connect the following circuit in the lab, to connect it correctly: *

(2 Points)

() B. Device 2 andd are ammeters.. 1 and 3 are voltmeters
) None of these.

@) B. Device 2 and 3 are ammeters.. 1 and 4 are voltmeters

() B.Device 1 and4d are ammaeters. 2 and 3 are voltmeters

U Rath A cad e




AOWEROURI







For RLC parallel circuit with phasor
diagram as shown in the figure, which
of the following statements is correct?

*

(2 Points)
IC
4 “1. IS =(IC_1L)+IR
B.1=(1,-1)+1,
gf To PI-R ’V C. L==L )+,
901 ™.
N D ]s =(]‘._IR)+IL
) ‘I E/Aand B-are correct
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For the series RLC circuit shown, what is the magnitude value of the current * [}
(2 Points)

A series RLC circuithas R= 100 Q,L=1.25H, C = 3.50 pF.

It is connected to an AC source _m

vs=150 v &

7 OWER@URNIT

@ None of above
() 049A
() a9A
O 015A
O 15A
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~""l'-"c‘)r series R-L-C circuit at
resonant frequency: *
(2 Points)

C and D are correct
A. The impedance Z is totally real

B. I'ls minmum and the volta geis
maximum

L

C. Zis imaginary, the power factor
lequal one

O AandD are correct

B clis Maximum, and the Power IS
maximum
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b In the Figure shown, if i = cos
- 100t and v = sin 100t, the

. element is: *

(2 Points)

{in v + \i v 2 -
=/ | | Element

L adiode

a capacitor



















